
LK4027

STABILIZER BAR
Assembly Guide

www.prolinetoolsupply.com

(989) 315-8946

http://www.prolinetoolsupply.com/


2

If you have any questions or comments, please call 1 (989) 315-8946.

Proline Tool & Supply, LLC

210 Pigeon Rd Bad Axe MI 48413 US

(989) 315-8946

STABILIZER BAR 3

SPECIFICATIONS 3

PARTS & HARDWARE 4

ASSEMBLY GUIDE 4

OPERATION 5



3

Collision work and other repairs are much easier when a pickup box is removed from the 
truck and kept on the LK4000 Lift King (Main Component). When changing out a box side or 
performing collision work, the LK4027 Stabilizer Bar is placed under the front of the box.  
The box is then lowered slightly onto the Stabilizer Bar. This stabilizes the box and reduces 
bounce, allowing the operator to more safely perform repairs. Most shops prefer to repair 
the pick-up box while it sits stable on the lift as opposed to using saw horses or blocks.



4

LK4029

LK-H006
3/8-16  star knob

3/8-16 hex nut LK-H015
3/8 split lock washer

LK4030 LK4031

LK-H014
3/8-16 x 2 1/2 hex bolt

PART NUMBER DESCRIPTION QTY.

LK4029 STABILIZER BASE 1

LK4030 STABILIZER INTERMEDIATE BAR 1

LK4031 STABILIZER TOP 1

LK-H006 STAR KNOB 3/8-16 1

LK-H014 HEX BOLT 3/8-16"x2-1/2" 1

LK-H015 LOCK WASHER 3/8" 1

HEX NUT 3/8-16 HEX NUT 1

2”x 6” GREY NON-SKID TAPE 1

LK4029

LK4030

3/8-16 hex nut

LK-H014 - 3/8-16 x 2 1/2 hex bolt

LK-H015 - 3/8 split lock washer

STEP 1

Attach LK4029 to LK4030 as shown, using the 3/8-16 x 2 1/2 bolt, 3/8 split lock washer 3/8-16 hex nuts. Securely 

tighten fasteners. 

2”x 6” grey non-skid tape



5

LK4031

LK-H006

STEP 2

Slide LK4031 into LK4030 and tighten the LK-H006 (3/8-16 star knob) securely.   Apply 2 x 6 grey non-skid tape. 

LK4030

LK4027 STABILIZER BAR

2”x 6” grey non-skid tape



6

LK4027 STABILIZER BAR

LK4027 STABILIZER BAR


